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1. Q5 %) MERFE T &3

(a) Dew point and relative humidity S %)
(b) Mollier chart S %)
(c) Open and closed type feed water heaters S »)
(d) Ideal and Van Der Waals equation of states (5 %)
(e) Heat pump S %)

2. (25 %) Air enters a steady-flow adiabatic compressor at 17 °C and is

compressed through a pressure ratio of 8.6:1. If the process is
assumed to be internally reversible, determine the work input required
in KJ/kg.

35 air RMEL# C,=1.004 kI/kgK -
ZR# C,=0717 kikgK> 8% # R=0287klkgK

3. (25 %) A piston-cylinder device initially contains 0.5 m’ of nitrogen gas
at 400 Kpa and 27 °C. An electric heater within the device is turned on
and is allowed to pass a current of 2A for 5 minutes from a 120V
source. Nitrogen expands at constant pressure, and a heat loss of
2800 J occurs during the process.

Determine the final temperature of nitrogen.

3 nitrogen EEb# C,=1.039kl/kgK -
£33 R=0.297 k/kg K

4. (254) A—2RA—K 10 n ZRBMEET(HEEM4H k=
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(b) #acE(a)Z BB RO ARBO%) RIAREMENSNRLES D
J& B (mm)Z 48 # A (3% k=0.01 Wm°C) ? (10 %),




